Bid #X2112977B1 - Pressure Washing Services

Creation Date Mar 8, 2017 End Date Mar 31, 2017 2:00:00 PM EDT

Start Date Mar 21, 2017 1:39:53 PM EDT Awarded Date Not Yet Awarded

Lightning Commercial Cleaning Service LLC.

\$215,595.00 (15/15 items)

Bid Contact Randolph Wallace

Address 8309 Fairway Road

lightning commercial cleaning svc@gmail.com

Sunrise, FL 33351

Ph 954-915-4814

Qualifications SB

Agency Note	es:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
X2112977B1- -01-01	Northport Garage Lower Level - First Offer	\$7,300.00	4 / each	\$29,200.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-02	Northport Garage Upper Level - First Offer	\$2,000.00	24 / each	\$48,000.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-03	Midport Garage/Building 20 Lower Level - First Offer	\$6,183.00	4 / each	\$24,732.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-04	Midport Garage/Building 20 Upper Level - First Offer	\$2,200.00	24 / each	\$52,800.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-05	Terminal 4 Parking Lot - First Offer	\$4,056.00	4 / each	\$16,224.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-06	Terminal 18 Parking Lot - First Offer	\$4,618.00	4 / each	\$18,472.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-07	Terminal 19 Parking Lot - First Offer	\$4,073.00	4 / each	\$16,292.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-08	Check Point 1 - First Offer	\$500.00	4 / each	\$2,000.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-09	Check Point 2 - First Offer	\$500.00	4 / each	\$2,000.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-10	Check Point 3 - First Offer	\$500.00	4 / each	\$2,000.00

4/3/2017 p. 1

Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	1 age 2 of
X2112977B1- -01-11	Check Point 4 - First Offer	\$500.00	4 / each	\$2,000.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-12	Ground Level - below 500 sqft - First Offer	\$0.50	500 / square foot	\$250.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-13	Ground Level - greater than 500 sqft - First Offer	\$0.50	1000 / square foot	\$500.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-14	Above Ground Level - below 500 sqft - First Offer	\$0.75	500 / square foot	\$375.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-15	Above Ground Level - greater than 500 sqft - First Offer	\$0.75	1000 / square foot	\$750.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	

Peoples Choice Pressure Cleaning & Painting

\$306,114.40 (15/15 items)

Bid Contact Steve Landis h2opressure@bellsouth.net

Ph 954-445-8033

Address 4341 SW 73 Terrace Davie, FL 33314

Ph 954-445-8033				
Agency Note	es:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
X2112977B1- -01-01	Northport Garage Lower Level - First Offer	\$4,384.80	4 / each	\$17,539.20
Product Cod Agency Note		Supplier Product Code: Supplier Notes: "PLEASE SEE ATTACHED DOCUMENTS" \$4,384.80 IS THE PRICE FOR THE LOWER LEVEL .03 PER SQ FT "OFFERED UNIT PRICE SHALL BE EQUAL TO A SINGLE LEVEL"		
X2112977B1- -01-02	Northport Garage Upper Level - First Offer	\$4,384.80	24 / each	\$105,235.20
Product Coo Agency Note		Supplier Product Code: Supplier Notes: \$4,384.80 "OFFERED UNIT PRICE SHALL BE EQUAL TO A SINGLE LEVEL" THIS IS THE PRICE FOR A SINGLE LEVEL AND WILL BE APPLICABLE TO EACH UPPER LEVEL, 2 OR 3 OR 4, ETC03 PER SQ FT		
X2112977B1- -01-03	Midport Garage/Building 20 Lower Level - First Offer	\$3,709.44	4 / each	\$14,837.76
Product Cod Agency Note		Supplier Product Code: Supplier Notes: \$3709.44 "OFFERED UNIT PRICE SHALL BE EQUAL TO A SINGLE LEVEL" .03 PER SQ FT		

sure Washing Servi	ces County Com	missioners		Page 3 of
X2112977B1- 01-04	Midport Garage/Building 20 Upper Level - First Offer	\$3,709.44	24 / each	\$89,026.56
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes: \$3709 "OFFERED UNIT PRICE SH THIS IS THE PRICE FOR A APPLICABLE TO EACH UP .03 PER SQ FT	.44 HALL BE EQUA SINGLE LEVE	L AND WILL BE
X2112977B1- 01-05	Terminal 4 Parking Lot - First Offer	\$4,867.38	4 / each	\$19,469.52
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes: 4867.3 EQUAL TO A SINGLE LEVI .03 PER SQ FT	8 "OFFERED	UNIT PRICE SHALL BE
X2112977B1- ·01-06	Terminal 18 Parking Lot - First Offer	\$6,927.87	4 / each	\$27,711.48
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: \$6927. EQUAL TO A SINGLE LEVI .03 PER SQ FT	.87 "OFFERED	UNIT PRICE SHALL BE
X2112977B1- ·01-07	Terminal 19 Parking Lot - First Offer	\$4,887.42	4 / each	\$19,549.68
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: \$4887. EQUAL TO A SINGLE LEVI .03 PER SQ FT	42 "OFFERED	UNIT PRICE SHALL BE
X2112977B1- -01-08	Check Point 1 - First Offer	\$500.00	4 / each	\$2,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:	
X2112977B1- ·01-09	Check Point 2 - First Offer	\$500.00	4 / each	\$2,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:	
X2112977B1- ·01-10	Check Point 3 - First Offer	\$600.00	4 / each	\$2,400.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:	
X2112977B1- 01-11	Check Point 4 · First Offer	\$500.00	4 / each	\$2,000.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:	
X2112977B1- ·01-12	Ground Level - below 500 sqft - First Offer	\$0.70	500 / square foot	\$350.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: .70 PE		
X2112977B1-	Ground Level - greater than 500 sqft - First Offer	\$0.50	1000 /	\$500.00

4/3/2017

Tage + 0				
-01-13	-		square foot	
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: .50 PER SQ FT				
X2112977B1- -01-14	Above Ground Level - below 500 sqft - First Offer	\$3.00	500 / square foot	\$1,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: \$3.00 PER SQ FT		
X2112977B1- -01-15	Above Ground Level - greater than 500 sqft - First Offer	\$1.995	1000 / square foot	\$1,995.00
Product Code Agency Notes		Supplier Product Code: Supplier Notes: \$1.995 PER SQ FT		

Green Earth Powerwashing

\$308,510.48 (15/15 items)

Bid Contact Kenneth Bolsch

Address 1422

kgb@greenearthpowerwash.com

Old Okeechobee

Ph 561-573-9092

West Palm Beach, FL 33401

Fax 561-573-9092				
Agency Note	es:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
X2112977B1- -01-01	Northport Garage Lower Level - First Offer	\$4,384.80	4 / each	\$17,539.20
Product Cod Agency Note		Supplier Product Coo Supplier Notes:	de:	
X2112977B1- -01-02	Northport Garage Upper Level - First Offer	\$3,091.20	24 / each	\$74,188.80
Product Cod Agency Note		Supplier Product Coo Supplier Notes:	de:	
X2112977B1- -01-03	Midport Garage/Building 20 Lower Level - First Offer	\$6,182.40	4 / each	\$24,729.60
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-04	Midport Garage/Building 20 Upper Level - First Offer	\$3,091.20	24 / each	\$74,188.80
Product Cod Agency Note		Supplier Product Coo Supplier Notes:	de:	
X2112977B1- -01-05	Terminal 4 Parking Lot - First Offer	\$8,112.30	4 / each	\$32,449.20
Product Cod Agency Note		Supplier Product Coo Supplier Notes:	de:	
X2112977B1- -01-06	Terminal 18 Parking Lot - First Offer	\$9,237.16	4 / each	\$36,948.64
Product Cod Agency Note		Supplier Product Coo Supplier Notes:	de:	
X2112977B1- -01-07	Terminal 19 Parking Lot - First Offer	\$6,516.56	4 / each	\$26,066.24
Product Cod Agency Note		Supplier Product Coo Supplier Notes:	de:	
X2112977B1- -01-08	Check Point 1 - First Offer	\$950.00	4 / each	\$3,800.00
Product Cod Agency Note		Supplier Product Coo Supplier Notes:	de:	
X2112977B1- -01-09	Check Point 2 - First Offer	\$950.00	4 / each	\$3,800.00

Page 5 Of				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-10	Check Point 3 - First Offer	\$1,500.00	4 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-11	Check Point 4 - First Offer	\$950.00	4 / each	\$3,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-12	Ground Level - below 500 sqft - First Offer	\$1.00	500 / square foot	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-13	Ground Level - greater than 500 sqft - First Offer	\$0.50	1000 / square foot	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-14	Above Ground Level - below 500 sqft - First Offer	\$3.00	500 / square foot	\$1,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-15	Above Ground Level - greater than 500 sqft - First Offer	\$2.50	1000 / square foot	\$2,500.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:				

Santana Pressure Cleaning Services, Inc.

\$408,879.20 (15/15 items)

Bid Contact Mario Santana

MARIO@NEEDPRESSURECLEAN.COM

Ph 813-932-2054 Fax 813-932-2053

Qualifications MBE SB

Address 8506 N Dexter ave Tampa, FL 33604

Agency Not	es:	Supplier Notes:		
Item #	Line Item	Unit Price Qty/Unit Total Pri		
X2112977B1- -01-01	Northport Garage Lower Level - First Offer	\$5,846.40	4 / each	\$23,385.60
Product Cod Agency Not		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-02	Northport Garage Upper Level - First Offer	\$5,846.40	24 / each	\$140,313.60
Product Cod Agency Not		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-03	Midport Garage/Building 20 Lower Level - First Offer	\$4,945.92	4 / each	\$19,783.68
Product Cod Agency Not		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-04	Midport Garage/Building 20 Upper Level - First Offer	\$4,945.92	24 / each	\$118,702.08
Product Cod Agency Not		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-05	Terminal 4 Parking Lot - First Offer	\$6,489.84	4 / each	\$25,959.36
Product Co	de:	Supplier Product Co	de:	

4/3/2017

ssure Washing Services County Commissioners Page 6 of				
Agency Notes:		Supplier Notes:		
X2112977B1- -01-06	Terminal 18 Parking Lot - First Offer	\$9,237.16	4 / each	\$36,948.64
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-07	Terminal 19 Parking Lot - First Offer	\$6,516.56	4 / each	\$26,066.24
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-08	Check Point 1 - First Offer	\$1,500.00	4 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-09	Check Point 2 - First Offer	\$700.00	4 / each	\$2,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-10	Check Point 3 - First Offer	\$700.00	4 / each	\$2,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-11	Check Point 4 - First Offer	\$1,500.00	4 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-12	Ground Level - below 500 sqft - First Offer	\$0.04	500 / square foot	\$20.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-13	Ground Level - greater than 500 sqft - First Offer	\$0.04	1000 / square foot	\$40.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-14	Above Ground Level - below 500 sqft - First Offer	\$0.04	500 / square foot	\$20.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: .04 per sq. ft plus rental		nark∙up
X2112977B1- -01-15	Above Ground Level - greater than 500 sqft - First Offer	\$0.04	1000 / square foot	\$40.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: .04 p up		ntal of lift with no mark-

Seminole Commercial Cleaning

\$506,287.80 (15/15 items)

Bid Contact John Darcy

john@darcy.biz

Ph 480-748-6296

Qualifications MBE SB

Agency Notes: Supplier Notes:

Item #	Line Item	Unit Price	Qty/Unit	Total Price
X2112977B1-	Northport Garage Lower Level - First Offer	\$7,308.00	4 / each	\$29,232.00

Address 6300 Sterling Road

HOLLYWOOD, FL 33024

ssure Washing Servi	ces County Com	missioners		Page 7 of
-01-01				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-02	Northport Garage Upper Level - First Offer	\$7,308.00	24 / each	\$175,392.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-03	Midport Garage/Building 20 Lower Level - First Offer	\$6,182.00	4 / each	\$24,728.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-04	Midport Garage/Building 20 Upper Level - First Offer	\$6,182.00	24 / each	\$148,368.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-05	Terminal 4 Parking Lot - First Offer		4 / each	\$32,449.20
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-06	Terminal 18 Parking Lot - First Offer	\$11,546.45	4 / each	\$46,185.80
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-07	Terminal 19 Parking Lot - First Offer	\$8,145.70	4 / each	\$32,582.80
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-08	Check Point 1 - First Offer		4 / each	\$4,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-09	Check Point 2 - First Offer	\$1,200.00	4 / each	\$4,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-10	Check Point 3 - First Offer	\$600.00	4 / each	\$2,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-11	Check Point 4 - First Offer	\$1,000.00	4 / each	\$4,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-12	Ground Level - below 500 sqft - First Offer	\$0.30	500 / square foot	\$150.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-13	Ground Level - greater than 500 sqft - First Offer	\$0.30	1000 / square foot	\$300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	 	
X2112977B1- -01-14	Above Ground Level - below 500 sqft - First Offer		500 / square foot	\$300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	<u> </u>	

X2112977B1- -01-15	Above Ground Level - greater than 500 sqft - First Offer	· ·	1000 / square foot	\$600.00
	roduct Code: gency Notes: Supplier Product Code: Supplier Notes:			

Imex Innovative co \$535,887.00 (15/15 items)

Bid Contact Jose G Jaramillo Address 5811 sw 88 st

imexinnovativeco@gmail.com 33156

Ph 786-274-0654 miami, FL 33156

Fax 786-232-4463

Qualification	Fax 786-232-4463 as SB			
Agency Note	es:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
X2112977B1- -01-01	Northport Garage Lower Level - First Offer	\$8,000.00	4 / each	\$32,000.00
Product Cod Agency Note		Supplier Product Coo Supplier Notes:	de:	
X2112977B1- -01-02	Northport Garage Upper Level - First Offer	\$7,308.00	24 / each	\$175,392.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-03	Midport Garage/Building 20 Lower Level - First Offer	\$8,100.00	4 / each	\$32,400.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-04	Midport Garage/Building 20 Upper Level - First Offer	\$6,500.00	24 / each	\$156,000.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-05	Terminal 4 Parking Lot - First Offer	\$8,400.00	4 / each	\$33,600.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-06	Terminal 18 Parking Lot - First Offer	\$10,000.00	4 / each	\$40,000.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-07	Terminal 19 Parking Lot - First Offer	\$8,000.00	4 / each	\$32,000.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-08	Check Point 1 - First Offer	\$1,000.00	4 / each	\$4,000.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-09	Check Point 2 - First Offer	\$1,000.00	4 / each	\$4,000.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-10	Check Point 3 - First Offer	\$2,500.00	4 / each	\$10,000.00
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	

4/3/2017 p. 8

ssure Washing Ser	rvices County Com	missioners		Page 9 of 1
X2112977B1- -01-11	Check Point 4 - First Offer	\$4,000.00	4 / each	\$16,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-12	Ground Level - below 500 sqft - First Offer	\$0.12	500 / square foot	\$60.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-13	Ground Level - greater than 500 sqft - First Offer	\$0.12	1000 / square foot	\$120.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-14	Above Ground Level - below 500 sqft - First Offer	\$0.35	500 / square foot	\$175.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-15	Above Ground Level - greater than 500 sqft - First Offer	\$0.14	1000 / square foot	\$140.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:				

YJ&R Landscaping \$592,524.80 (15/15 items)

Bid Contact Rajendra Bharat

rajbharat1@att.net Ph 954-854-7593

PII 954-654-75

Address 9430 S.W 18 ST Miramar, FL 33025

Qualification	s CBE SBE			
Agency Note	es:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
X2112977B1- -01-01	Northport Garage Lower Level - First Offer	\$9,500.40	4 / each	\$38,001.60
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-02	Northport Garage Upper Level - First Offer	\$9,500.40	24 / each	\$228,009.60
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-03	Midport Garage/Building 20 Lower Level - First Offer	\$8,037.12	4 / each	\$32,148.48
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-04	Midport Garage/Building 20 Upper Level - First Offer	\$8,037.12	24 / each	\$192,890.88
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-05	Terminal 4 Parking Lot - First Offer	\$6,489.84	4 / each	\$25,959.36
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-06	Terminal 18 Parking Lot - First Offer	\$9,237.16	4 / each	\$36,948.64
Product Cod Agency Note		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-07	Terminal 19 Parking Lot - First Offer	\$6,516.56	4 / each	\$26,066.24

	•			1 490 10 01
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-08	Check Point 1 - First Offer	\$650.00	4 / each	\$2,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-09	Check Point 2 - First Offer	\$650.00	4 / each	\$2,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-10	Check Point 3 - First Offer	\$650.00	4 / each	\$2,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-11	Check Point 4 - First Offer	\$650.00	4 / each	\$2,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-12	Ground Level - below 500 sqft - First Offer	\$0.50	500 / square foot	\$250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-13	Ground Level - greater than 500 sqft - First Offer	\$0.45	1000 / square foot	\$450.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-14	Above Ground Level - below 500 sqft - First Offer	\$1.00	500 / square foot	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-15	Above Ground Level - greater than 500 sqft - First Offer	\$0.90	1000 / square foot	\$900.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

MCJ Cleaning Services

\$710,875.92 (15/15 items)

Bid Contact Maria Watson

contact@mcjcleaning.com

Ph 954-418-6248 Fax 954-708-2731

Supplier Code VS0000008302

Qualifications CBE DBE MBE SB SBE WBE

Address 161 NE 2nd Ave
Deerfield Beach, FL 33441

Qualification	Qualifications OBE BBE MBE OB OBE WBE					
Agency Notes:		Supplier Notes:				
Item #	Line Item	Unit Price Qty/Unit Total Pr				
X2112977B1- -01-01	Northport Garage Lower Level - First Offer	\$11,692.80	4 / each	\$46,771.20		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
X2112977B1- -01-02	Northport Garage Upper Level - First Offer	\$10,231.20	24 / each	\$245,548.80		
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes: Unit F		evel price		
X2112977B1-	Midport Garage/Building 20 Lower Level - First Offer	\$9,891.84	4 / each	\$39,567.36		

sure Washing Serv	ices County Com	missioners		Page 11 of
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-04	Midport Garage/Building 20 Upper Level · First Offer	\$8,655.36	24 / each	\$207,728.64
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Unit I		price
X2112977B1- -01-05	Terminal 4 Parking Lot - First Offer	\$11,357.22	4 / each	\$45,428.88
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-06	Terminal 18 Parking Lot - First Offer	\$16,165.03	4 / each	\$64,660.12
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-07	Terminal 19 Parking Lot - First Offer	\$11,403.98	4 / each	\$45,615.92
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-08	Check Point 1 - First Offer	\$1,020.00	4 / each	\$4,080.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-09	Check Point 2 - First Offer	\$600.00	4 / each	\$2,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-10	Check Point 3 · First Offer	\$900.00	4 / each	\$3,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-11	Check Point 4 · First Offer	\$900.00	4 / each	\$3,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-12	Ground Level - below 500 sqft - First Offer	\$0.25	500 / square foot	\$125.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-13	Ground Level - greater than 500 sqft - First Offer	\$0.25	1000 / square foot	\$250.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-14	Above Ground Level - below 500 sqft · First Offer	\$1.00	500 / square foot	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
	Above Ground Level - greater than 500 sqft · First Offer	\$1.00	1000 / square foot	\$1,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

Hartzell Painting & Construction

\$890,991.40 (15/15 items)

Bid Contact Mike Goodwin mgoodwin@myhartzell.com

Address 2301 n.w. 33rd court suite 112

Ph 9	954-957- 9761	Pompano bch	, FL <u>3</u> 3069	Page 12 of
Agency Notes:		Supplier Notes:		
Item # Line	e Item	Unit Price	Qty/Unit	Total Price
X2112977B1- -01-01	Northport Garage Lower Level - First Offer	\$13,154.00	4 / each	\$52,616.00
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes: Unit pricing formula is confus	orice is based	upon .09 per sq ft, your stion answers do not clarify
X2112977B1- -01-02	Northport Garage Upper Level - First Offer	\$13,154.00	24 / each	\$315,696.00
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes: see above comment	de:	
X2112977B1- -01-03	Midport Garage/Building 20 Lower Level - First Offer	\$11,128.32	4 / each	\$44,513.28
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes: see above comment	de:	
X2112977B1- -01-04	Midport Garage/Building 20 Upper Level - First Offer	\$11,128.32	24 / each	\$267,079.68
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes: see above comment	de:	
X2112977B1- -01-05	Terminal 4 Parking Lot - First Offer	\$14,602.14	4 / each	\$58,408.56
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-06	Terminal 18 Parking Lot - First Offer	\$20,783.61	4 / each	\$83,134.44
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes: see above comment	de:	
X2112977B1- -01-07	Terminal 19 Parking Lot - First Offer	\$14,662.61	4 / each	\$58,650.44
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes: see above comment	de:	
X2112977B1- -01-08	Check Point 1 - First Offer	\$452.25	4 / each	\$1,809.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-09	Check Point 2 - First Offer	\$607.50	4 / each	\$2,430.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-10	Check Point 3 - First Offer	\$520.92	4 / each	\$2,083.68
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
X2112977B1- -01-11	Check Point 4 - First Offer	\$1,067.58	4 / each	\$4,270.32

ouro rruormig our				i age is or
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-12	Ground Level - below 500 sqft · First Offer	\$0.09	500 / square foot	\$45.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-13	Ground Level - greater than 500 sqft · First Offer	\$0.09	1000 / square foot	\$90.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-14	Above Ground Level - below 500 sqft · First Offer	\$0.11	500 / square foot	\$55.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-15	Above Ground Level - greater than 500 sqft \cdot First Offer	\$0.11	1000 / square foot	\$110.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

TRASHCO \$1,251,281.40 (15/15 items)

Bid Contact John Wyche

jwyche@trashco.org Ph 754-200-1925

Fax 305-675-3315

Qualifications CBE DBE MBE SB SBE

Address 21113 Johnson Street

Suite 118

Pembroke Pines , FL 33029

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
X2112977B1- -01-01	Northport Garage Lower Level - First Offer	\$17,539.20	4 / each	\$70,156.80
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Unit price is priced per fl		
X2112977B1- -01-02	Northport Garage Upper Level - First Offer	\$17,539.20	24 / each	\$420,940.80
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Unit		per floor.
X2112977B1- -01-03	Midport Garage/Building 20 Lower Level - First Offer	\$14,837.76	4 / each	\$59,351.04
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Unit price is priced per floor.		
X2112977B1- -01-04	Midport Garage/Building 20 Upper Level - First Offer	\$14,837.76	24 / each	\$356,106.24
Product Cod Agency Note		Supplier Product Co Supplier Notes: Unit price is priced per fl Unit price is priced per fl	loor.	
X2112977B1- -01-05	Terminal 4 Parking Lot - First Offer	\$19,469.52	4 / each	\$77,878.08
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-06	Terminal 18 Parking Lot - First Offer	\$27,711.48	4 / each	\$110,845.92

4/3/2017

ssure Washing Services County Commissioners			Page 14 of	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-07	Terminal 19 Parking Lot - First Offer	\$19,549.68	4 / each	\$78,198.72
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-08	Check Point 1 - First Offer	\$7,276.50	4 / each	\$29,106.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-09	Check Point 2 - First Offer	\$3,051.00	4 / each	\$12,204.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-10	Check Point 3 - First Offer	\$3,000.00	4 / each	\$12,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-11	Check Point 4 - First Offer	\$5,429.70	4 / each	\$21,718.80
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-12	Ground Level - below 500 sqft - First Offer	\$0.35	500 / square foot	\$175.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-13	Ground Level - greater than 500 sqft - First Offer	\$0.35	1000 / square foot	\$350.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-14	Above Ground Level - below 500 sqft - First Offer	\$1.50	500 / square foot	\$750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-15	Above Ground Level - greater than 500 sqft - First Offer	\$1.50	1000 / square foot	\$1,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

VIP Specia	al Services		\$6,257,708.00	(15/15 items)
	Luke Ward lukeward@vipspecialservices.com Ph 917-703-9733	ddress 583 Valley Ro West Orange,		
Agency Note	es:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
X2112977B1- -01-01	Northport Garage Lower Level - First Offer	\$36,540.00	4 / each	\$146,160.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de: 962-21	
X2112977B1- -01-02	Northport Garage Upper Level - First Offer	\$36,540.00	24 / each	\$876,960.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	

ssure Washing Service	ces County Com	missioners		Page 15 of 1
X2112977B1- -01-03	Midport Garage/Building 20 Lower Level - First Offer	\$30,912.00	4 / each	\$123,648.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-04	Midport Garage/Building 20 Upper Level - First Offer	\$30,912.00	24 / each	\$741,888.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-05	Terminal 4 Parking Lot - First Offer	\$24,437.00	4 / each	\$97,748.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-06	Terminal 18 Parking Lot - First Offer	\$34,639.00	4 / each	\$138,556.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-07	Terminal 19 Parking Lot - First Offer	\$24,437.00	4 / each	\$97,748.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-08	Check Point 1 - First Offer	\$4,500.00	4 / each	\$18,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2112977B1- -01-09	Check Point 2 - First Offer	\$4,500.00	4 / each	\$18,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-10	Check Point 3 - First Offer	\$4,500.00	4 / each	\$18,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-11	Check Point 4 - First Offer	\$1,500.00	4 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-12	Ground Level - below 500 sqft - First Offer	\$450.00	500 / square foot	\$225,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-13	Ground Level - greater than 500 sqft - First Offer	\$500.00	1000 / square foot	\$500,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- -01-14	Above Ground Level - below 500 sqft - First Offer	\$1,500.00	500 / square foot	\$750,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2112977B1- A	bove Ground Level - greater than 500 sqft - First Offer	\$2,500.00	1000 / square foot	\$2,500,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	